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Section A

Answer all questions

Question 1 does not relate to the QRL case study.

(a) State what is meant by ‘market segmentation’.

.............................................................................................................................................. [2]
(b) ldentify two non-monetary methods of motivating a workforce.
3 SRR
2 e e eeeeeeeieeeeseiteeeesessesesesessseesesssteeesietsseesisststeeeinssseeeeansteeesiasteteetansrreeeeanrreeeeaanrrnees
[2]
(c) State two problems of using break-even analysis.
T ettt et et e eeee e e —eeeeeei—eeeeeaiheeeeeeateeeeeaaseeeeeiaateeeseaateeeeeaaareeeeaareeeeeaatreeeeaarreeeeaanrees
2 e eee e eeeeeeeeeeeeseseeeeeeessseteeesasseeeeesssteeeeeateseesensteteseanssteeeaansteeetaateeeeeaasreeeeaannreeeeaarrnees
[2]
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(d) A flower shop normally sells bunches of flowers for £2.50 per bunch. Direct costs are £1.70
per bunch and overheads are £7 000 per month.

(i) Calculate the monthly profit if the shop sells 10000 bunches of flowers.

(ii) The shop receives a special order for 5000 bunches of flowers from a new customer who
is only willing to pay £2 per bunch.

Calculate the total contribution from this special order.

...................................................................................................................................... [2]
(e) Explain two disadvantages to a firm of using batch production.
3 PSRRI
2 et eeeeeeeieeeeseeteeeeeeisesesesessseesesesteeesiistsseseiesteseseisssseeeesirteeesiasteseeeinteeeeeanrneeeaanrrneas
[4]
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(f) Outline two functions of a wholesaler.
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Section B

Answer all questions
Questions 2-5 are based on the QRL case study. Your answers should make specific reference to the

issues facing QRL.

2 (a) Referto Table 1. The labour turnover for the London & South region in Quarter 3 (Q3) was as
forecast. The Quarter 4 (Q4) figure, however, was actually 21%. The average total number of
staff employed during 2014 in the London & South region was 550.

Calculate the total number of staff who left the London & South region during the whole of

2014.
.............................................................................................................................................. [4]
(b) Evaluate how QRLs labour turnover figures for 2014 may affect its future success. [16]
Turn over
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3 QRL is considering two alternative investment projects (Table 2 & lines 57-67).

Discuss how investment appraisal may be used by QRL when making a decision between the two
alternative projects. [16]

© OCR 2015



©OCR 2015 Turn over



© OCR 2015



11

4 QRLs board has now confirmed the three new corporate objectives (lines 94-98).

To what extent may these new corporate objectives affect QRLs marketing activities? Justify your
answer. [16]
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5* Evaluate how Total Quality Management (TQM) may be used by QRL to help improve its operations
management. [20]
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END OF QUESTION PAPER
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